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before you begin to attempt the questions.

This booklet contains 100 questions in all comprising the following three parts.

e Part-(l) : General Awareness (40 Questions)
e Part-(Il) : Mathematics (30 Questions)
e Part-(lll) : General Intelligence and Reasoning (30 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions you must explore this booklet and ensure that it contains all the pages and
find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately.

Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start attempting
the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These instructions must
be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERO’ mark.
Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant
question number by pencil or Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different
from the information given in the application form, the candidature of such candidate will be treated as cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not
spend too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates
are advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in
their own interest. Failing to comply with this provision will be considered as using unfair means in the examination and
action will be taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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General Awareness

Which one of the following represents the inner planets?
(A) Planets between the Sun and the belt of asteroids
(B) Planets between the Sun and the Earth

(C) Planets without satellite

(D) Planets in gaseous state

World Human Rights Day is observed on —
(A) 9 December (B) 10 December
(C) 11 December (D) 14 December

The headquarters of World Trade Organization is located
in-

(A) Washington (B) Paris (C) Vienna (D) Geneva
In India, income tax is levied by-
(A) Union Government

(C) Ministry of Finance

(B) State Government
(D) RBI

The International Finance Corporation was established
in .
(A) 1956 (B) 1960 (C) 1972 (D) 1985
Who was the Prime Minister of India when nationalization
of banks took place in 1969?
(A) Morarji Desai

(C) Jawaharlal Nehru

(B) Lal Bahadur Shastri
(D) Indira Gandhi

When pH of rainwater drops below 5.6 it is-
(A) Acidic (B) Basic
(C) Neutral (D) None of these

Where is the Vivekananda Rock Memorial situated?
(A) Thiruvananthapuram (B) Kanyakumari
(C) Nagercaoll (D) Bhubaneswar

Who was the founder of Prarthana Samaj?
(A) Raja Rammohan Roy (B) Atmaram Pandurang
(C) Dayananda Saraswati (D) Jayaprakash Narayan

Shivaram Wildlife Sanctuary is located in--------- .
(A) Karnataka (B) Telangana

(C) Tamil Nadu (D) Kerala
The currency of Japan is-
(A) Rial (B) Yuan (C) Yen (D) Rupiyah

‘“Triton® is the largest moon of which planet?
(A) Uranus (B) Jupiter (C) Neptune (D) Saturn

Which one of the following are recorded first by the
Seismograph?
(A) P-waves (B) S-waves (C) L-waves (D) R-waves
Which of the following gases is used in the manufacturing
of plastic?
(A) Methane (B) Helium (C) Ethylene (D) Butane
Camera is an optical instrument that uses-

(A) Convex lens (B) Concave lens

(C) Cylindrical lens (D) None of these

Who is known as the Father of Indian Railway?
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(A) Lord Canning
(C) Lord Curzon

(B) Lord Ripon
(D) Lord Dalhousie

Who is the Union Minister for Road Transport and
Highways?

(A) Nitin Gadkari

(C) Tushar A Chaudhary

(B) Rajinder Pal Singh
(D) Sarve Satyanarayana

What is the judicial capital of Nagaland?
(A) Dispur (B) Silchar
(C) Guwahati (D) Dibrugarh

Where is the wheel and axle plant of Indian Railways?
(A) Bangalore (B) Chittaranjan
(C) Chapra (D) Madhepura

Where did India’s first metro rail start?
(A) Mumbai (B) Kolkata
(C) Bangalore (D) Pune

Which Sufi Silsila had got much popularity in India?
(A) Chisti (B) Suhrawardi
(C) Firdausi (D) Nagshbandi

Which one of the following is not a monetary policy
instrument of RBI to control money supply in the market?
(A) CRR (B) SLR

(C) Repo Rate (D) None of the above

Match the following and choose correct option. State
Folk dance

(a) Andhra Pradesh 1. Dumhal

(b) Chattisgarh 2. Kolattam
(c) Kashmir 3. Kalbelia
(d) Rajasthan 4. Panthi

(A) 1c, 2a, 3d, 4b
(C) 1b, 2d, 34, 4c

(B) 1d, 2b, 3c, 4a
(D) 1c, 2b, 3d, 4a

Which of the following tomb is located outside of the India?
(A) Humayun (B) Aurangzeb
(C) Jahandar Shah (D) Jahangir

Which drug is used as a Thyroid Hormone?
(A) Metformin (B) Ketoconazole
(C) Promethazine (D) Liothyronine

Who is the founding member of Kimberley Process
Certification Scheme (KPCS)?
(A) USA (B) Italy (C) Australia (D) India

Which is the first Hindi newspaper of India?

(A) Udaan (B) Azad Vichaar
(C) Udant Martand (D) Vichaar Vyakti

On the last of the allotted days at the appointed time the
speaker puts every question necessary to dispose of all the
out standing Matters in connection with demand for grants,
this is known as ..........
(A) Guillotine

(C) Adjournment Motion

(B) Censure Motion
(D) Privilage Motion

The Blue Cross is related to which sport?
(A) Boxing (B) Long Jump
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(C) Shooting (D) Martial Arts
DNA stands for..................
(A) Di Nucleic Acid

(C) Di ribonucleic Acid

(B) Deoxy Nucleic Acid
(D) Deoxy ribonucleic Acid

Who laid the foundation stone for NH projects in Karnataka
recently?

(A) Narendra Modi

(C) Prakash Javadekar

(B) Rajnath Singh
(D) Nitin Gadkari

Who has inked a MoU with Estonian academy to enlighten
the state people on the e-governance models prevailing in
the world?
(A) Assam
(c) Odisha

(B) Telangana
(D) Nagaland

Who is the Governor of Meghalaya?
(A) Ganga Prasad (B) Banwarilal Purohit
(C) Tathagata Roy (D) Kasrinath Tripathi

Name the former Chairman of the Securities and Exchange
Board of India (SEBI), who was bestowed the honour at the
2018 dfiles Governance Awards?

(A) U. K. Sinha (B) D R. Mehta

(C) C. B. Bhave (D) M. Damodaran

Which country became first in the world to recognise
‘orphanage trafficking' as a form of modern slavery?
(A) Australia  (B) India (C) Denmark (D) Iceland

Name the member countries of NAFTA?
(A) USA, Mexico and Canada (B) USA, India and China
(C) USA, Iltaly and Canada (D) India, China and Japan

Who became the first Indian to be honoured with the Blue
Cross by the International Shooting Sport Federation
(ISSF) for his contribution to the sport of shooting?

(A) Jeetu Rai

(B) Abhinav Bindra

(C) Rajyavardhan Singh Rathore

(D) Gagan Narang

Which chronology is correct about elected President of
India?

(1) Sri N. Sanjeeva Raddy (2) Sri. V. V Giri
(3) Dr. Fakhruddin Ali Ahmed  (4) Dr. Zakir Hussain
(A)1,2,34 (B) 4,2,3,1 (©) 4,213 (D)3,1,4.2

Who Invented LCD Projector?
(A) Gene Dolgoff
(C) Douglas Engelbart

(B) Brendan Eich
(D) Federico Faggin

Where did the next session of International Kimberley
Process will be held?
(A) USA

(C) Australia

(B) Italy
(D) India
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Mathematics

If first term of an arithmetic series is 21 and the difference
between two consecutive terms is -4. Find the 12t term?
(A) -25 (B) -26

(C)-21 (D) None of these

The measures of the four angles of a quadrilateral are in
the ratio 4:5:7:8. What is the difference between the
measure of second highest and lowest angle?

(A) 48° (B) 45°

(C) 30° (D) None of these

If P:Q = 1:2, QR = 3:4, R:S = 6:9 and S:T = 12:16, then
find P:Q:R:S:T.
(A) 4:6:9:12:15
(C) 3:6:8:12:16

(B) 2:3:6:8:12
(D) None of these

In an examination, 43% of the students failed in History,
24% failed in Geography and 13% failed in both subjects.
Find the percentage of students who passed in both the

subjects?
(A) 54% (B) 48%
(C) 52% (D) None of these

A starts a business with * 4000. B joins him after three
months with * 8000. C puts a sum of * 18000 in the
business for 3 months only. At the end of the year, the
business gave a total profit of * 6293. Find the profit share
of C?

(A) 1736
(C) 1963

(B) ".2387
(D) None of these

Direction Q.(46-49) Read the following bar graph carefully and

Q.46

Q.47

Q.48

Q.49

answer the questions given below.
Bar graph shows number of hats sold by two stores P and

L during six months.
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The total number of hats sold in may by both stores
together is approximately what percent more than the total
number of hats sold in march by both stores together?
(A) 24% (B) 22% (C) 20% (D) 26%

ay June

What is the average number of hats sold by store in all
Given month together?
(A) 666.66 (B) 599.33 (C) 633.33 (D) 683.33
What is the ratio between the total number of hats sold by
store ‘P’ in February and April together and the total

number of hats sold by store ‘L’ in June and January

together?
(A) 6:7 (B) 11:14
(C) 25:28 (D) None of these

What is the difference between the total number of hats
sold by company ‘L’ in all given months together and the
total number of hats sold by company ‘P’ in all given
months together?
(A) 150

(C) None of these

(B) 50
(D) 200
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Q.50 A boy goes to school at a speed of 6 kmph and return to (A) 343a (B) 49
the village at a speed of 4 kmph. If he takes 15 hours in all, (C) 49(a+1) (D) None of these
what is the distance between school and village?
(A) 36km. (B) 24km. Q.65 (16)%16 x (16)%04 x(2)°2 is equal to :-
(C) None of these (D) 30km. (A) 4 (B) 1/2
(C) None of these (D) 8

Q.51 A man swims downstream 36km and upstream 24km.
taking 4 hours each time. What is the velocity of current? Q.66  When simplified the product

(A) 2 kmph (B) 1.5 kmph =) (1 - 1) (1 - 1) - (1 - 1) becomes.
(C) 3 kmph (D) None of these 3 4 5 v
(A) 7 B)

Q.52  Find the surface area of a sphere of diameter 28 cm? (C) None of these (D) —

(A) 2474 cm.2 (B) 2532cm.2 t(t+1)

C) 2396 cm.? D) None of these

© © Q.67 The least number more than 5000 which is divisible by 73.
Q.53 A man can do a work alone in 12 days. With the help of a E’ég géég E[B)g Z%AI;L of these

day he can do the same work in 9 days. If they get "1244

; 2
E(;\r)t\f:i[lwork, whatis the share ()(fé;‘ﬁzb;y' Q.68 What is the slope of the line 3x+4y-16=07?

(C) "396 (D) None of these (A) _Tl (B) _3/4

(C) None of these (D) %
Q.54 In what proportion must sugar at '4.10 per kg. be mixed

with sugar at "4.60 per kg., so that the mixture be worth | 5 69  Find the number of sides of a regular polygon whose each

4.25 per kg.? internal angle is 150°
(A) 7:4 (B) 6:5 (A)10 (B)15
(C) None of these (D) 8:3 (C)12 (D)9
Q.55 Find the compound interest on "16750 in 2 years, the rate | Q.70  The diameter of a toy wheel is 28 cm. What is the distance
of interest being 4% for the first year and 8% for the second travelled by it in 14 revolutions?
year? ‘ (A) 12.32m (B) 1248cm.
(A) " 2063.60 (B) "2084.8 (C) None of these (D) 11.98m.
(C) " 2116.4 (D) None of these

General Intelligence and Reasoning

Direction Q.(71-74) Read following information carefully and
answer given question ? “P + Q” means “P is wife of Q"

“P - Q" means “P is Husband of Q”
“P @ Q" means “P is sister of Q"
“P % Q" means “P is mother of Q”
“P* Q" means “P is father of Q"

“P + Q" means “P is son of Q”

Q.56 A tradesman marks his goods at 24% above his cost price
and allows purchasers a discount of ll%% for cash. What

profit % does he make?
(A) 9.75% (B) 9.84%
(C) 8.98% (D) None of these

Q.57 Iftan20 - Sin20 = P, then find the value of P?

(A) Sine.tr;lne " (B) Sin®0.tan’0 “P © Q" means “P is daughter of Q”
(C) cosec?6 cot*0 (D) cot6 coseco “P $ Q" means “P is brother of Q”
Q.58 What is the value Of_COI 21092 . ) Q.71 K-L%O$P, T@R+M+Q=U-V, S-G%K$L@M
(A)V3 (B) V3 © % D) % How G related to P?
(A) Mother (B) Daughter
— (C) Daughter-in-law (D) None of these
Q59 If /T =Y then find the value of Y?
72 T@R+M+Q=U-V, S-G%KS$L@M, K-L%O$P
(A) 1 (B) cos 0 Q
How G related to Q?
. 0
(C) sing (D) None of these (A) Mother (B) Mother-in-law
(C) Daughter (D) Daughter-in-law
_y2 34y3
Q.60 Ifx= yox Then the value of x3+y? is? Q.73 HH1L%N ©Y, X + D*F@G + H+J-K
A1 (B) xy How H related to X?
©)o (D) None of these (A) Paternal Grand Son
(B) Maternal Grand Son
=3 3 3 (C) Son-in-law
Q.61 I(fA)a1 2 ++/3, then the value czge)lz 1/a3is (D) Cannot be determined
(© 2 (D) None of these

Q.74 IH+HLWNOY, X+ D*F@G + H+J-K

How G related to L?
I _1 1 .

Q62 If =_-7, thenthe value of | - I*is? (A) Paternal Grand daughter

(A) X B) = (B) Maternal Grand daughter

m m .
. (C) Mother-in-law
(Cym (0)-m (D) Mother
. i . + 23 + -17% - S L )

Q63 igngxthe value of x. 11339 = 23 + 11 x 27 - 17% = 317 Direction Q.(75-76) Study the following information carefully to

(A) 485 (B) 472 answer the question given below-

BO5S5L8MS#9@2$YORM"P*W%X5NJS1IC

(C) 465 (D) None of these 6A78E9G7H

Q64 (343)11/3 x 72a+1 - ’)

4,9((1—1) X 7a
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Q.75 How many such symbols are there in the above
arrangement which is immediately preceded by a number
and followed by an alphabet?

(A) None (B) Two (C) Three (D) One

Q.76  What is the position of “*” in the above arrangement?

(A) 17" from right end
(C) 7 to the left of N

(B) 15" from left end
(D) 5™ to the right of of Y

Direction Q.(77-79) Read following
answer the following question.
There are six person Shivam, Tilak, Urijit, Vivek, Wahid and
Karan Who got different marks in the examination. Shivam
got more marks than only Urijit and Karan. Tila got less
marks than wahid, who did not get highest marks in the
examination. The second higest person got 95 marks.

information carefully an

Q.77 How many person got more marks than Urijit ?
(A) Three (B) Two
(C) More than three (D) None of these
Q.78 If Tilak got 80 marks which is the possible score of
Shivam?
(A) 96 (B) 90 (C)85 (D) 76
Q.79  Who got lowest marks?
(A) Wahid (B) Shivam
(C) Karan (D) Cannot be determined

Direction Q.(80-81) Study the following information given below
and answer the question based on it.
(A) Data in statement | is sufficient to answer the
question while data in statement Il are not required to

answer.
(B) Data is statement Il is sufficient to answer the
guestion while data in statement | are not required to
answer.

(C) Data in both statements | and I
necessary to answer the question.
(D) Data in neither statement | nor Il are sufficient to

answer the question.

together are

Q.80 Six friend Prateek, Kashif, Ravi, Shivam, Tarun and Umang
are having different heights. Who among the following is
tallest person.

(I) Sohail is Taller than Prateek but shorter than Umang.
Tarun is taller than Kashif but not the tallest.

(I) Sohail is only taller to Prateek. Kashif is taller to Umang
and Sohail but not the tallest.

Q.81 Total 15 students got rank from top to bottom. The one who
got Ist rank is at top and the one who got 15th rank is at
bottom. What is rank of Kavita from the top?

(I) Manav is 8th from top Three person are between Manav
and Kavita. Atleast 5 person got worse rank than kavita.

(I1) Geeta’s rank 3rd from bottom. Four person are between
Geeta. and Manav Three person are between Manav and
Kavita.

Direction Q.(82-83) In the given question a relationship shows
between different elements.
After the statement, four conclusions are given. You have
to decide which of the following conclusion definitely follows
the given statements.
(A) Only conclusion | follow
(B) Only conclusion Il follow
(C) Both conclusion follow
(D) None follow

Q.82 Statement: H<F<A>B>C,U<F>M>K
Conclusion: () A>F (IhF<C
Q.83 Statement: H<F<A>B>C,U<F>M>K

Conclusion: () M<B (IhK<C
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Q.84  Find number of triangle in given figure?
(A) 38 (B) 39 (C) 44 (D) 46
Q.85 From the given alternative words, select the word which
cannot be formed using letters of the given word?
TRADITIONAL
(A) ADDITION (B) INDIA
(C) RATIO (D) STRAIT

Direction Q.(86-87) Choose the Venn diagram which best
illustrates the three given classes in each of the following

guestions?
S ©
(B)
» QO

(A) :
© .
Q.86 Diamond ring, ring ornament

Q.87 Nose, eye, body

Direction Q.(88-91) In the following question below are given,
some statement followed by some conclusion taking the
given statement to be true even if they seem to be at
variance from commonly known facts, read all conclusion
and then decide which of the following conclusion logically
follow the given statement.
(A) Only conclusion | follow
(B) Only conclusion Il follow
(C) Both conclusion follow
(D) None follow

Q.88 Statements: AllP are S. All Q are R. Some P are Q.
Conclusions: (I) Some P are R is a possibility
(II) Some S are not R.

Q.89 Statements: NoSisT.No Tis U. AllU are V.
Conclusions: (I) Some V are not T is a possibility.
(I1) All S are U is a possibility.

Q.90 Statements: Some G are H. Some H are not I. No | is J.
Conclusions: (I) Some G are not I.
(1) All J are G is a possibility.

Q.91 Statements: Some Kare L. No L is M. No M is N.

Conclusions: (I) Some M are not K is a possibility.
(1) 25% L is not M.

Direction Q.(92-94) Study the following information carefully
and answer the questions given below:
In a certain code language ‘election survey people’ is
written as ‘fyo fvo fna’, ‘biopic law member’ is written as
fsa fra fta’, ‘people law lead’ is written as ‘fla fvo fsa’, and
‘review nation election’ is written as ‘fyo fha fja’.

Q.92 What is the code of “Survey”?

(A) fna (B) fyo

(C) fvo (D) Cannot be determined
Q.93 Give the word for code “fra”?

(A) Biopic (B) Law

(C) Member (D) Cannot be determined
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DNA DAILY NEWS
“LANALYSIS

Q.94 What is code of “Lead election” ?
(A) fla fna (B) fta fna (C)fvofla (D) flafyo
Direction Q.(95-96) Study the following information carefully and
answer the questions which follow—

From point R, Arjun starts to walk in north direction and
covers a distance of 5 meters then after he takes a right
turn and covers a distance of 4 meters and finally takes a
left turn and covers a distance of 5 meters and reaches at
point Q. From point P, Pankaj starts to walk in south
direction and covers a distance of 10 meters then he takes
a left turn and covers a distance of 16 meters and reaches

at point Q.

Q.95 In which direction is point P with respect to point R?
(A) South East (B) North West
(C) North (D) South

Q.96 What is shortest distance between point P and R?

(A) 5v37 (B) 25 (C)4v34 (D) 38

Direction Q.(97-98) In the following questions select the odd word/
number pair from given alternatives.

Q.97 (A) 483 (B) 609 (C) 576 (D) 548

Q.98 (A)PLCV (B) DEMQ (C)HGVF (D) JLTN

Direction Q.(99-100) In the following questions select the related
word / number from given alternatives.

Q.99 JHVC:43:.KTMQ: ?

(A) 58 (B) 65 (C) 68 (D) 61
Q.100 29:435::36:7?

(A) 495 (B) 540 (C) 580 (D) 525
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General Awareness

Out of the nine planets, mercury, Venus, earth and
mars are called as the inner planets as they lie
between the sun and the belt of asteroids the other
five planets are called the outer planets.
Alternatively, the first four are called Terrestrial.
Human Rights Day is observed on 10 December.
International Anti-corruption Day- 9 December
UNICEF Day - 11 December National Energy Con
servation Day - 14 December

The World Trade Organization (WTO) - it is an
international organization which sets the rules for
global trade. This organization was set up in 1995.
its the headquarters is located in Geneva.

In India, income tax is levied by Union Government.
The International Finance Corporation is a member
of the World Bank Group and its headquarter is in
Washington DC, United States. It was established in
1956.

The nationalization of banks in India took place in
1969 by Mrs. Indira Gandhi the then prime
miniter.14 banks were nationalized at that time.
These banks were mostly owned by businessmen
and even managed by them.

When pH of rainwater drops below 5.6 it is acidic.
Kanyakumari

Atmaram Pandurang was the founder of Prarthana
Samaj. Raja Rammohan Roy - Brahmo Samaj
Dayananda Saraswati - Arya Samaj Jayaprakash
Narayan - Sarvodaya movement

Shivaram Wildlife Sanctuary is located in Telangna.
The currency of Japan is Yen.

‘Triton' is the largest moon of Neptune planet.

Ethylene gas is used in the manufacturing of plastic.
Camera is an optical instrument that uses convex
lens.

Lord Dalhousie is known as the Father of Indian
Railway.

Nitin Gadkari

Guwahati is the judicial capital of Nagaland.
Bangalore

Kolkata

This was the Silsila which, with its spirit of equality
and brotherhood, won the hearts of the people of
the subcontinent.

All the above are the monetary policy instrument of
RBI to control money supply in the market.

Humayun's tomb is the tomb of the Mughal Emperor
Humayun in Delhi, India. Tomb of Aurangzeb is
located in Aurangabad district in the Indian state of
Maharashtra. The tomb of Jahandar shah is also
humayan’s tomb in Delhijindia. The tomb of
Jahangir is located in Shahdara Bagh in Lahore
Pakistan, along the banks of the Ravi River.
Liothyronine, also known as L-thyroxine, is a
manufactured form of the thyroid hormone, thyroine.
It is used to treat thyroid hormone deficiency
including the severe form known as myxoedema. It
may also be used to treat and prevent certain types
of thyroid tumors.

India

Udant Martand (The Rising Sun) was the first Hindi
language newspaper published in India. Started on
May 30, 1826, from Calcutta , the weekly news per
was published every Tuesday by Pt. Jugal Kishore
Shukla.

On the last of the allotted days at the appointed time
the speaker puts every question necessary to
di pose of all the out standing Matters in connection
with demand for grants, this is known as Guillotine.
The Blue Cross is related to Shooting.

1|Page

Ans.30(D)

Ans.31(D)

Ans.32(D)

Ans.33(C)
Ans.34(B)

Ans.35(A)

Ans.36(A)
Ans.37(B)

Ans.38(B)

Ans.39(A)

Ans.40(D)

Ans.41(D)
Ans.42(B)

Ans.43(C)

Ans.44(D)
Ans.45(D)

Ans.46(B)
Ans.47(C)

Ans.48(D)
Ans.49(C)

Ans.50(A)
Ans.51(B)

Ans.52(D)
Ans.53(D)

Ans.54(C)

Deoxyribonucleic acid, a self-replicating material
which is present in nearly all living organisms as the
main constituent of chromosomes. It is the carrier of
genetic information.

Nitin Gadkari laid the foundation stone for NH pr
jects in Karnataka recently.

Nagaland has inked a MoU with Estonian academy
to enlighten the state people on the e-governance
models prevailing in the world.

Tathagata Roy is the Governor of Meghalaya.

D.R. Mehta the former Chairman of the Securities
and Exchange Board of India (SEBI), who was b
stowed the honour at the 2018 ¢files Governance
Awards.

Australia became first in the world to recognise 'o
phanage trafficking' as a form of modern slavery.
USA, Mexico and Canada

Abhinav Bindra became the first Indian to be ho
oured with the Blue Cross by the International
Shooting Sport Federation (ISSF) for his contribtion
to the sport of shooting.

Dr.Zakir Hussain,

Sri V.V Giri

Dr.Fakhruddin Ali Ahmed ,

Sri N. Sanjeeva Raddy,

Dolgoff was an early developer of digital projection
and started thinking about LCD projectors in 1968.
He founded Projectavision, the world's first
dedicated digital projection company in 1988. He
has pulished several papers in 3-D imaging, optics,
holo raphy, and LCD video projection, and has more
than 65 patents granted worldwide with many others
pending.

India

Mathematics

121 term = 21+11x-4=21-44=-23

Required difference = (7-4)x——o
(4+5+7+8)

P:Q:R:S:T = 216:432:576:864:1152
=3:6:8:12:16

Ratio of their profits =A:B:C
=4x12: 8x9:3x18
=48:72: 54
=8:12:9

C'’s profit share =
=117x9 = " 1953
Required 9 = 1250-13%0

6293
(8+12+9)

x100 = 22.22% =22%
o = (550+450+600+700+850+650
6

Required averag
_ 3800

—— =633.33
6

Required ratio = (#504700) _ 1150 _ 23

(650+750) 1400 28
Required difference=L - P
= 3900 — 3800 =100

6x4

Required distance = 15 x - 36 km.

Downstream speed = % =9 kmph
Upstream speed = -6 kmph
Speed of current = 9;—6 = 3 = 1.5 kmph

Surface area = 4nr2 =4x 2x2x% = 2464 Cm.2

7 2 2 _
Boy can complete the work in [%f:] = 36 days.
Man : Boyzi:i=3:1
12124346
Boy’s share = — x1="311
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4.10 460 General Intelligence and Reasoning
/ Ans.(71-72)
s=6 utvo
4.25 I
T=K L—M-?
/ \ otp R-T-
.35 A5 Ans.71(D)
Required ratio = 2 = 7:3 Ans.72(B)
102> 108 Ans.(73-74)
Ans.55(A) C.I. =16750 x To0 % Tog — 16750 x=o" Sk
= '2063.6 lF—G': |!|+
Ans.56(D)  Profit % = 24 — 11.5 - 22115 = g 749 P
Zg 100 \l'—
Ans.57(B) - —sin2) =P NT
0?529 ) Ans.73(C)
sin%0 (50529 - 1) =P Ans.74(D)
sin?0. (sec?6 — 1) =P Ans.75(B)
P =sin29 tan?0 Ans.76(D)
Ans.58(A) cot 210° = cot(180+30°) Ans.(77-79) o .
= cot30° = 3 Vivek>Wahid>Tilak>Shivam>Urijit/Karan>Karan/Urijit
0 Ans.77(C)
An559(D) - cos 0 = 2 cos? (E) -1 Ans.78(D)
L (6 Ans.79(D)
_ [urzeos (3)-1 Ans.80(C)
2 Ans.81(A)
Ans.60(C) xy—x?=y? Ans.83(D)
X2+y2—xy=0 Ans.84(C)
X3 +y3 = (x+y) (X2 +y2 — xy) Ans.85(D)  Given word does not have “S”
X3 +y%=(x+y) x 0 Ans.86(B)
X3+y3=0 Ans.87(B)
Ans.61(B) a®=(2+/3) Ans.88(D)
1_ 1 2-V3 _ -
@ e 2 V3 Q E
cad+1l/a>=2+V3+2+/3=4 2
Ans.62(C) # - ni@ = _Tl Ans.89(B)
(-1 _-1
-0
—l=-m
| _ |2 =m AnSQO(B)
Ans.63(B) 493 + 297 — 289 — 29 = X e.a o o
X=472
7(3xa/3)x 72a+1 Ans.91(B)
Ans.64(D)  —gaaa = G‘Q ° o
7(u+2u+1) y
7Qa+a-2) Ans.(92-94)
7(3a+1-3a+2) _ o Word Code
72=?=7?=343 Election — fyo
Ans.65(C)  (24) 016 x (24) 004 x (2) 02 Survey ~—— fna
2 0.64 % 2 0.16 % 2 0.2 People ™ fwo
2 (0.64+0.16+0.2) Biopic / member = fra/fta
21=2 Law — fsa
1 il 1 1 1 Lead — fla
Ans.66(A) (1- -5) (1- -Z) (- 'g) - (1- 'ﬁ) (1- ';) Review / nation = fha/ fja
ettt s 520
Ans.67(D)  73) 5000 (68 222'32%
438 '
620 Ans.(95-96)
584
36
Required number = 5000 + 73 - 36 = 5037
Ans.68(B) Slope = _—j
Ans.69(C)  180° x () = 150°
6n—12=5n
N=12 Ans.95(B)
. _Ap 22 _ Ans.96(C)
Ans.70(A) Clrcum_ ference of wheel="D — X 28 = 88cm. Ans.97(D)  Except “D” all are divisible by 21.
Total distance travelled = 88 x 14= 1232 cm. Ans.98(B)  Only “B” contain vowel.
Ans.99(D)
Ans.100(B) 29 x 15=435
36 x 15 =540
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= A A . N ';.‘
G |

...keeps Yyou ahead

TEST FORM NUMBER Axpaq 3id ;100
INSTRUCTIONS TO CANDIDATE | g« s : 100
fuiRaw@ 9

T3 BT B P | USl [AfIRgd Sl ol &9 9 U% |

(1) =9 yRasr 4 100 9% €, ST fb gt A9 Al | o € |

41T- (1) : General Awareness (40 y=)
4arT- (1) : Mathematics (30 y%)
ArT- (111) @ General Intelligence and Reasoning (30 y=)

(2) N g IfaR € T Wb IR 3P T |

(3) 9l B B PRAT URS PR I Ul AMUDI 59 GRABT Bl Sl AT e R I8 JHARed a1 =1y fb
s 9l U SURYd B &R B U FHH AT 9aal Il T8l & | 3R AMUS! 39 RIS # 3Is Y fear 2 ar
3MIPT R T I&AT BT |

(4) YRS 9 ¥ AHRISTS b4 ST & IS AP Ted SUX @ foIg 1,/3 3 HIe 37m Srgm |

(5) omud! FRieTs gRT IR gRABT 3Tl I & ST | JMUDT U1 DI B BAT YR™ B A Ugel AT ¥, el
q9R, X A /3R] IR/ GRIEl BT A ITR—YRADI IR AGEHYdD GRT HAT BN | MBI STIR—IRIDBT H
FEiRT I W AT geR W1 ST BN | 39 el &1 ¥ RE ¥ e fdar S anfey, el 7 &1 W)
YT ITR—YREIDT BT A Te! (AT ST 3R 3MUBT [’ 3P (AT S |

(6) <R dad YR AT P /= Sl U R STR— GRABT WS U FEar & FHfdd Mol B g3 0RE F <Ad
BRD fa@rT ST =1y |

(7) OMR TR gRA®T I U R0 gRT S SR | Afe (AT Rfq H Sudter SHaR), mded u= d af Tl
TGRSl T UTY Y, dl Jded BT AT R HR fear SR |

(8) fers @ arguf oM & g & FIE U FeT BIS AHAT 7 |

(9) SwWb # ¥ B N Fde &1 gures A H Ivd SFIgaR @ Sugt HRAE! /JA & foy SRarl
HAT ST Fehell 2 |

(10) SN STedl &1 e Sa-l Sfea! 3R ATaeT | el & SR < | {B qaTd Bfod 8 Fhd & 3R TR A &
Fhd B | fmdr o g2 R SI1eT 99g T8l f9arg |

(11) wrarse B AR qrERed HaR UGV, TRIeT Hel /B H I ke ¥ JfEfd €1 B ) ded U Arergd
BT T R IR GIR IUBRYT bl §¢ BIb Ul 379 U 8] g Fohdl | 9 BT Seoltd B W 3fdeh b
g Sfd BRIAE! &1 IRAT 3R S9aT 3ded 1 o fhar o1 9o 2 |

(12) STR—9F W PIg B HF ol [HAT ST A1 |
(13) @IS ¥ IRNCAR Ul QT 8 | Ul URIe Hel el Bie Fadl & |

g dP IR g Y0 YRADT Wi DI 7 HET WY a9 dPp - Gl
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Q.1

Q.2

Q.3

Q.4

Q5

Q.6

Q.7

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

App :-

frofatea § ¥ Wiadt g &1 ufaffa o1 s g2
(A) T 9 Z% U961 &1 U2t & ST UIe I ard 98
(B) 3t 3 & &9 UTT ST a1 U

(C) o1 IuUE ardi U

(D) 3 U ol T B

3y AFaIIeR f3ad e AT ST 872
(A) 9 foTmR (B) 10 foum=R
©) 11 feawR (D) 14 fdgwR

fa% STIR HTe 1 gearery H R g1-------
(A) TIRATET (B) U (C) faw

YR H, M g gRT Tl STl 82
(A) g WDPR (B) T TRHR
(C) fot Hamera (D) 3R&TS

SRSt fodt e & R ------- o T |
(A) 1956 (B) 1960 (C)1972 (D) 1985

1969 H S§ §b! BT TP §3MT YT, T HRA BT UYTHAT
B/

(A) FRRSH &OT$ (B) T STGR TRl
(C) aTeR o1 A5 (D) Sfe=T ikt

SIS 8 Sfcl BT pH HH 5.6 A 1 S8 A T8 Bl -
(A) 3RIT (B) &R

(C) deR (D) TH I P15 &l
3T M ANIRTS Hgl (T 872

(A) faEaT=agRa (B) HITHHRT

(C) RIS (D) Ya =R

U GAS & RIS I A?

(A) ST EHEH ™ (B) SHTERT TG
(C) GdIG TZadt (D) STAYHTRI AR
IR g=roig 3R & YT g l-------

(A) FAled  (B) ATHTHT (C) AT (D) A
IR L f—

) fama (B) g3 (©) T (D) =foan

eTge 5 Ug &I Gad g8 9gH 77
(A) QT8 @) ge@d  (©)d=gd (D) WM

ﬁaﬁ%@aﬁﬁaﬁq@aﬁaﬁﬁ@wm%ﬁaﬁm
ST 87
A)T-TIT  (B)TI-RT  (C) TA-AA (D) MR-aAT
g 19 & o, wifes & Fuio & SuanT & ot 82

(A) HIT @® 8femd  (C) 3R (D) YA

FIRT UF ST IUHROT 2 S BT TN FHAT B |-~
(A) ST (B) 3raqdl A
(C) SR (D) S8 A HIE T

YR Ye7d &P S &b U H B ST Sl 87
(A) TS BT (B) 1S Ru
(C) QIS Bo (D) IS SISt
b URaE 3R IASTHNT & T S ol i 82
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Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

Q.29

Q.30

Q.31

(A) R e (B) AfieR urd Rig

(C) JUR T. et (D) T TIARTY
ANTICTS &1 Ry ST T 82

AfER  @EfaR  © TR (D) fsgTe
HRATT Yed T ufear 3R 41 9 hal fRyd 27

(A) STAR B)fRSA  (C)BWT (D) HIWT
HRA P! Ugell Al ¥ Bl Y& BI 715 A2

() gsd (B) PITHE  (C) FAR (D) T
YR # forg gwt Rafia &1 afferes desfigdr firedte

(A) et (B) gerael  (C) et (D) Fawraict
fofafed o @ o 31, JReEtes gRT IR § HaT gfd &
frafera o= arar Mifess ifd &1 U wree e 87

(A) HI3R3R (B) THUASR

(€)W ¥e (D) I H T P el
frafefad &1 e HRY au1 98t fadey 9Tl

I s

(a) 3= U 1. g®d

(b) BIETG 2. PIATSH

(c) HR 3. PIaterr

(d) ISR 4. qjt

(A) 1c, 2a, 3d, 4b
(C) 1b, 2d, 343, 4c

Frafefed & & freret FevarT HRd & a1eR R 22

(B) 1d, 2b, 3c, 4a
(D) 1c, 2b, 3d, 4a

(A)EHT*:I (B)Gh?TIT?FcI

(C) T8GR M8 (D) SR

DI T a7 YRRTZS BHHT P U H TN &I et g2
(A) AT (B) BICIBHSId
(C) MftryTSia (D) aIURRITRH
WMWW(KPCS)%WW@?
?

(A) TG AT AR (B) gl

(C) 3ffera (D) HRd

YR BT Ugdl fgcl SRITR B 182

(A) 3SHH OEISIFEEIN
(C) I&d AIUS (OACEREIE]

g gudta ufear 7 gyt @i &1 &t fga fafy 9 7 Foerh
T3 B fomr ==l & €1 AdeH & T a1 9T § 39 39 PR
ST STl 87
A e
(C) Ay TReTd

1 1Y g ot & Feifrd 82
(A) gabaroll  (B) el B

CIREARESIE
(D) ORISR U=ca

C) AT (D) AR 31

(D) S 3l REgfaad 3T

gé’rﬁmﬁ NH TRasFreft & forg SRR fFaa
?

(A) R A

Web :- https://tesmus.com
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Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

Q.38

Q.39

Q.40

Q.41

Q.42

Q.43

Q.44

App :-

(C) UhTR SIS (D) R e

g & vafed STan Hisd WR I & ANl Bl SR -
IR & T TRIATE STt & 1y farge THeidr o= R

TR A fpar g2

(A) 3TH (B) AETHT () 3nfs=m (D) ArTdtS
AU & I5TUTd & =0 § frd Fged fear mn g2

(A) T T TG (B) AR} ATd QIR
(C) TUNTd (g (D) B Y et

YR wfayfa oik fafmg &1 (SEBN) & gd TaRAH &1 A
a2y, 5% 2018 & SR Ta-q sarsy § gwH foar

T UT?
(A) 3. famgT (B) S.3R. WgaT
(ORICIRIE] (D) THEHIGRA

3T TR BT YIS AT & T H AT g ara 3y
BT USET DI A - &9 71

(A) iefer™ar  (B) URA (C)$THH (D) 3M3TAS

q1YeT & TaH N & 19 Jargu?

(A) JUHT, AfRTD! iR HTST  (B) UHT, ¥R 3R IH

(C) UL, 3Tt 3R FHTST (D) HRd, T 3R S

YT & Wd # fad dieq & fag Hﬂ?;%a e e

ﬁmﬁ (ISSF) GRT & 319 A T 81 d1d Tgat YR
?

(A) ST (BEIREEICE

(C) Irsgae Rig IR (D) T AR

YR & TaHd [ T 1 9T Y Tal 87

(1) TS () .9 R

(3) STHTEEM ofcl UG (4) T, TP g

(A)12,34  (B)4,2,31 (C)4,2,1,3 (D)3,1,4,2

P TS} UistaeR &1 snfaseR faar?

(A) ST SIETH GESES]

(C) ST TSdee (D) BRI B

SRR freRa Ufehan &1 oTen W Fal Mo famam

ST?

(A) TG AT ART (C) gedit

(B) sircferan (D) HRd

I T AR A0 BT Ugel U< 21 8 9 &7 HENT Uai b &
IR -4 ® @1 124 ug = HIRe ?

(A) -25 (B) -26

(C)-21 (D) 57 & BIS 7T

TEh Igoid @ IR PO 4:5:7:8 8 A IR FIW IS T AIA

BIT BT & T RT A=K &7
(A) 48° (B) 45°
(C) 30° (DESERIEIE

It P:Q = 1:2, QR = 3:4, RS = 6:9 3k S:T = 12:16 ar
P:Q:R:S:T &1 #19 A1 HIfQ?
(A) 4:6:9:12:15
(C) 3:6:8:12:16

(B) 2:3:6:8:12
(D) 377 q ®Ig e |

TH wem # 43% faemeft e § 24% fyemeft e # den
13% fremfi <M fwal # ogaif B € ar <mr fwar #

fora % faemef sl g &7
(A) 54% (B) 48%
(C) 52% (D) 7% | B T8 |

http://bit.ly/TesMusPrime 3|Page

Q.45

A " 4000 & Y Th FUR URHT Rl 8, B I9 #EH 919
8000 & W1 AUR # Mt &rar 2, C * 18000 & |1 &AUR #
PId 3 EH ® forv wfe =am ®, 9 @ ora § @uR A
FA @M 6293 BT BT B, A C B @M BT IR A BIe?
(A) * 1736 (B) * 2387

(C) * 1963 (D) T & HIE T |

feen Adwr Q.(46-49) fr=faRed IR I% @ saMgd® ygax A

Q.46

Q.47

Q.48

Q.49

Q.50

Q.51

Q.52

Q.53

Q.54

g B SR SIfRTe?

IR UM% & R P 3R L gRT © 498 § 9 =Y aiftay &
TR Bl i3 Heel 2 |

By 'P'OwR L

o Laciy At st aE =

e
75 d S Rl §RT 94 T g Ul @ |, w9 H SE
WRI R 4 T d AT B F&1 A FT fba wfer
e 8?
(A) 24% (B) 22% (C)20% (D) 26%
il fo 7691 5 R P’ gRT o= T St @Y siad e @
8?7

(A) 666.66  (B)599.33
TR ‘P’ g1 BRI 31X ol # 91 T o Il &1 e, qef
WR L' g™ 97 R S # 9= T g <l @ Hen &

(C) 633.33 (D) 683.33

dra I ruTT g ?
(A) 6:7 (B) 11:14
(C) 25:28 (D) 377 & B1g e

A L gRT 9l o 7€M 9= T | Al B g A
T FFE PR W R wEAl A 99 W o Sift @ g
= & §rg a1 iR 27
(A) 150

(C) g & @IS =&

Th ST 6 fHl /el @ o ¥ T B oo § 3R 4
foelt /<fer @l arat & g B A T B, I S 3T A9 § oA
15 99¢ BT F9I T §, A TR a1 Afd & 9= 0 @ 2?
(A) 36 fa. (B) 24 .

(C) 3T & P & (D) 30 fors.

TP M B ORT &I foum § 36 fof. dom ot &1 g feem #
24 9. 79 B H UAP § 4 g BT FHY oAl § ol €RT BY
AT FIA DIOTY?

(B) 50
(D) 200

(A) 2 T4, /et (B) 1.5 f#1. /=er
(C) 3 fawhr. /wier (D) s & B1E A
28 ). AT dTel el BT AdE &bl Sd BITT?
(A) 2474 5512 (B) 2532312
(C) 2396 w12 (D) 5% 1 BT 7€

TF A U& BRI &1 el 12 341 § 9= 9T 8, UF osd @
TERAT W 98 S B BT 9 foAl H wR gt ® AT 7 99 B
P oIV * 1244 vt R & a1 TS BT R /T 2

(A) 411
(C) * 396

(B) * 423
(D) 19 & 1g e

4,10 9fa fsum. arel A @1 4.60 R fem arel A & @
v arguma & faemar sy R s &1 qew C 4.25 ufy fem
& S0P

(A)T7:4 (B) 6:5
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(C) =7 | 31 A (D) 8:3 Q.70 UuF Rgd= & ufey &1 @ 28 ¥ T T 14 Faax ® ufRy @
ERT 07 @ T8 0w/ 2?
Q.55 = 16750 R 2 guf ¥ =mafg @9 @@ HIfg? I TBd 9§ & (A) 12.32 #icx (B) 1248 3.
foq <t @ TR 4% T TR I S oY AT B W 8% 77 (C) T7¥ & HIE & (D) 11.98 #.

A)  2063.60 B) ' 2084.8 : :
EC; ©5116.4 ED; = P T General Intelligence and Reasoning

056w f N o1 S T T T A 24% e e A Q.(71-74) Ry w1y e 1 srmydss ug iR 4B Ul & SR

3 BT B, iR THERI &1 T8 & fory 11.5% 1 BT U&H 47
HRAT ® Al SHBT oA % ST BT ? “P+Q @ 3Rf“P, Q@ Uil 21
(A) 9.75% (B) 9.84% “P - Q" & ol “P, Q &1 ufy & /”
(C) 8.98% (D) 7 & B T ‘P@ Q" @ 1 “P, Q@ g1 B |”
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